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Note: You have four choices for each objective type question as A, B, C and D. The choice _q)ld’?;.pll'r
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. y

Q.No.1 A Ay

(1) Symbol used for similarity is ; -“:.a:rdlﬁﬂ ____..-.-/uoc_’_ﬁ,,lé*" )
(A) = (B) ~ (C) A (D) #

(20 ___ ofaparallelogramis -9.{:1::/tx/.u'a':.._./""ﬂéﬁ,lﬁ;lulw P @E’Cﬂbuldﬂ?uj ()

equal to the product of its base and altitude. .

(A)Area 3 (B) Length 1/ (C) Width (122 (D) None of these (e

(3) The diagonal of a parallelogram each other. Gl e mdinlbungie (3)
(A) Perpendicular »»f  (B) Trisect &b (C) Bisect at right angle 5 (D) Bisect i

(4) Theorderof matrix [2 1] is- w8 [2 1] S8 @)
(A) 2 by —1 B)1-by =2 ) 1-by—1 (D) 2—by -2

(5) Write I/x in exponential form. ! 7 iégufpﬁ;;‘l;f U  (5)
A) x (B) x’ () x7 (D) x2 )

(6) The logarithm of any number to itself base is:- -‘Ltn.,,i:’.?mﬁo?uwzfﬂﬁﬁmo’% (6)
(A) 1 (B) 0 € -1 (D) 10

(7) a® - b is equal to:- o4l 9;2 .t (7

a+b a+b

(A) (a-b)’ (B) (a+b) (C) a+b (D) a-b

(8) Find m sothat x* + 4x + m is a complete square. Wb lrJ¥ X +4x+m ,__J_L;,g‘_"_;“ §m @
(A) 8 (B) -8 (C) 4 (D) 16

(9) The square root of @ -2a+1 is- -é.{,’,’/big( a*-2a+1 (9)
A) £(a+1) B) +(a-1) (€) a-1 (D) a+1

(10) If the capacity 'C'* of an elevator is at most -9k 1600 wiiessli 'C" WSl wzided sl (10)

1600 pounds, then

(A) C <1600 (B) C=1600 (C) C <1600 (D) C >1600

(11) 1f (x,0) =(0, y )then (x, ¥) isequal to-- el (x,y) I (x,0)=(0, ) A
(A) (0,1) (B)(1,0) (C)(0,0) O (11)

(12) Atriangle having all sides equal, is called:- -‘LJU:’/ s QWSO EL Sl (12)
(A) Isosceles c,é VIss (B) Scalene {ieuii¥ (C) Equilateral {42uifs+ (D) Right angled INAG

(13) Inatriangle, therecanbe ___rightangle. N N :fﬁu;s'i-f’ G't..)féﬁ‘o'( (13)
(A) Only one .ﬁJ/’ (B) Two (C) Three & (D) Four Jb

(14) In a parallelogram opposite anglesare . il A_.JIJ_EJBL&MHUJI? (14)
(A) Non parallel 6)1?/:? (B) Unequal 144 (C) Vertical (1 (D) Equal 4Lz

(18) The right bisectar of the sides of a trianadle are ) Utin &td:!fé:bﬂ”'éwd) (15)
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NOTE: - Write same question number -+@;:ui§.44lyfzé &/JJﬂzj:ZJilﬁ}Jlflﬁjéqu}fﬁ it
and its part number on answer book, as given in the question paper.
SECTION- Ji.

2. Attempt any six parts. 12=2x6 vy /..,Li?cﬁfilic,df 24y
(i)  Find the product of [6 -0] [ ] [6 0] [ } _ép""_ﬂ}’ b (i)
i) Find the value of X ,if [i ’311 F X { "; ‘i] S X i i)
(i) Eviauate. ;27 27 Eeped (i)
(v)  Simpify. 481y7127 dery 28 EF W)
Lt 7 7

(v)  Write log 1{[% into sum or difference of logarithm. ..u:“‘ﬁu:ﬁw/gz_yférfs’ﬂf log %jg (v)
(vij) Findthe value of X in logy256=x -g_:(r:“"uf J x o logg256 =x (vi)

8a (x +1) )
(vii) ~Reduce ia( (,f : :: to the lowest ferm. qJ/U' i o 7 2(x* - 1) (vii)

T
(vii)  Rationalize the denominator 75 i NA iz“..lle’tffp /"uﬁ m (wiii)
() Factorize, x> - 21x +108 W2 —21x+108 -Z¢F (W)
3. Attempt any six parts. 12=2x6 c{/fub!f’é:f] L»’c..df -3 /‘Jir
() DefineHCF EiPn 0
(i) Solve |3x+10]=5x+6 3x+10j=5x+6 -&S @
(i)  Solvethe equation 3/2x -4 —2=0 i d-2=0 -SSfeble (i)
(iv)  Define an ordered pair with an example. -é:,J@'J/‘T&.LZ,}‘/“ (iv)
(v)  Verify whether the point (~=1,1) -u-ﬂa,d"w, spy Tl U (<L1) PUEGA W)
lies onthe line 2x — y +1 =10 ornot. o

(vi)  Define Collinear Points. S s ()
(vii)  Find the mid point between (6, 6) and (4, ~2) . EEl (4,-2) 4 (6,6) sBm (Vi)
(viil) What is meant by Congruency of Triangles? Sy ek wiu i)

. ol W e e R iEecdeoe BH RS
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4. Attempt any six parts, 12=2x6 -“é}f.;yrz&zsgc;[}f 4y
LU 2 0, e (M- 4 5 AD p ABC LbLig-ds g
(i) The given triangle 4BC is equilateral tiangle and 4D s bisector of angle A4
Then find the valyes of unknowns 0 y%'and 'z

N
3/ T\ ¢

D
(i) What will be the angle ?f.f..h,ﬂ;m%u&m .yﬁe;g’c.gwks;ucwwi;dﬁ;ﬂd%a:m/ (ii)
for shortest distance from an outside point to the line?
(i) 3cm, 4¢m and 7cm are not the _q/.:.ou,-;.-_gf-'»’; M;g:{',igg.!d/ Cub!ﬁwo’( Tem ol dem 3em (iii)
lengths of g triangle. Give the reason.

(iv)  Define Proportion. _J/J/UJU (iv)
(V) Define Pythagoras Theorem, I St (v)
(Vi) Find unknown x in the figure. -UheS x PALE (i)
_ (
X
dem
3 - LR "
(Vi)  Find the areg of the given figure. ¢ “q),:}”g; dexuf: (vii)
3em
6em
(vii)  Define Orthocentre of Triangle, Iy /7'@( (A¥7) ?}d:/éw (viii)

(%) Construct a triangle 4¢ inwhich  mAB =31 cm, mBC =42cm, mCyq - 52em /it ABC wi (ix)

SECTION-Il 1.0

- - e / i
24=8x3 < i 94 i -f;{//aguza:;urmtc.dy N,
NOTE: - Attempt any three questions. Question No.9is compulsory.

5.(A) Solve by Cramer's Ryle. Xty=3 6x+5y=] UM esudoil 1S (Lin)s
(B) Solve the equation for x angd y (3= 2i)(x +yi) =2 (x - 2yi) + 2i -1 -(_,j/J‘U.‘.' Yol x fapyl (L)
6.(A) Use log table to find the valye of (438)°0.056 el -ErPedellul (s

(388)

_éfx“’;.fd/a2+b2 +c¢? iy ab + be + ca =9 at+b+c=7/} (&)
B) If a+b+c=7 ang wp +bctca=9 then find the value of 42 4 52 .2
7.(A) Factorize the following cubic polynomial by factor theorem, -g,’:’ ¢ j’ Jdz L;’J/-.‘.‘flﬁ»gz.’djb»c_u Ju‘ f,.tf (.7
xS~ 452 +x+6 i
(B) Use division method to find the Square root of the expression. _ér:"’(‘}/b% ~”.ng)} (L)
4 12 452 oy g

8.(A)  Solve the equation. 5(x - 3) T S(x-3) x=1-% yfen (Ln.g
6 9 6 9

(B) Construct APQR and draw the altitudes, . . -uf‘”ala?ﬂulufiz APOR (L)
mPQ = 6¢cm, MOR = 4.5¢m, mpR = 5.5¢m
9. Prove that any point on the bisector of - brdeliligylae Ufji.LéJuzﬁu{f/;{JﬂtL/é. ,uo’:@/.:.gff -9
an angle is equidistant from its arms.

~r~
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Note: You have four choices for each objective type question as A, B, C and D. The choice -g{/ﬁ'«d’)‘::awr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) ¥ (x~=1, y+1)=(0,0)then(x, y)is equal to:- -eds (%,y) I (x-1Ly+1)=(0,0) VG
(A (1, -1) B (-L1) €) (L 1) O) (-L-1)

(2) Aline segment has end point/points:- Yl LBBL (2)
(A) One (B) Two » (C) Three (D) Four

(3) Aray has end point/points:- gl LU (3)
(A) Three £ (B) One i (C) Four s (D) Two »

(4) In a parallelogram opposite sides are . Ul Leedeltwegis (4)
(A) Congruent JL?'* (B) Non-congruent J‘t?/.-f (C) Perpendicular »¥ (D) Non-parallel djf;“f,é

(5) The bisectors of the angles of a triangle are ; Sl wtﬁugsl}ufg‘:wo’( (5)
(A) Equal 4z (B) Perpendicular »*  (C) Concurrent £i% (D) Equidistant L6/t

(6) Aline segment has midpoint. P B 1 VA
(A) 1 (B) 2 (C) 3 (D) 4

(7) Area of figure is:- <K E F )

jcm ‘ 4em .

(A) 20cm? (B) 8cm? (C) 64cm? (D) 16cm?

(8) The medians of a triangle cut each other in the ratio gl e mdigbalel  (8)
(A) 2:1 (B)1:3 ) 1:4 D) 1:1

; 2 :

(9) Productoffx ][ J is equal to:- ez [x y ][ - }flvd/" (9)
A [2x+y] ® [x-2y] © [2x -] ©) [x +2y]

(10) Real part of 2ab (i + i%) is:- X 2ab(i +i%) A5 (10)
(A) 2ab (B) —2ab (C) 2abi (D) —2abi _

(11) The logarithm of unity to any base is:- -4‘_wu.£ (ifs’!’ = & ,;JHO'( (1)
(A) 1 (B) 10 (C) e (D) 0
1 1. . 1 1

(12) e e is equal to:- -4l 3 2+b (12)

2a 2b -2a -2b
(A) 2 (B) o (C) ) (D) T2

(13) Factors of 5x° — 17xy — 12y are:- gl 53 - 17wy -12y7 (13)
(A) (x +4y), (5x +3y) (B) (x —4y),(5x -3y)
(C) (x —4y), (5x + 3y) (D) (5x —4y),(x+3y)

(14) What should be added to complete the square of x* 164 7 ?thgzﬂ’;/d’ﬂ’ LU UL *rea e (18
(A) 8x? (B) —8x2 () 16x* (D) 4x?

(15) x =0 is a solution of the inequality. e SKerfLabd x=0  (15)

AN .Y e ] Y~ I ee 1 Y N ™
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NOTE: - Write same question number -.‘c.a;:dg:_{;gff,ﬁ?é Zyn/:};;?.rsi/:zdiﬂﬁs{léb’diﬁ 0%,
and its part number on answer book, as given in the question paper.

SECTION-l .o

2. Attempt any six parts. 12=2x6 Eifelnlingey 2 )y
; 12 ﬂir 1 2 12 3 L £ . :
(i) Find the product of [ o J{ 3| 411 4 s 6] j T -;r}”.,,/d" b (i)

a+ - - 5 a+ -3 4 .
(U [ 63 bil]=[ 2 ‘2‘} '--é{”w“‘fd/ b s a S [ 63 bil}z{ 2 2])1 (i)

thenfind @ and & .
(i) Findthevalueof x and y if Xx+ip+l=4-3i JEedl y wox i)
(iv)  Simplify. [o5,10n8m N ()
(v)  Write 21ogx — 3log y in the form of single logarithm. _Ju:ﬁﬁw,f 2logx —3logy (V)
(vi)  Find the value of x if loggy x = :33 -g"::((}”u,’.: J x (. loggyx= _72 (vi)
2.3.5 »s 120
(vii)  Reduce 292" 1o the lowest form, yier by x3y j (vii
3OX3J/22 30x
(vil)  Simpify. $/243,5,10,15 Shasxdy1045 _EA (i)
(¥ Determineif(x - 2)isa S b P -4 1320 (x-2) S
factor of x> — 4x> + 3x + 2

3. Attempt any six parts. 12=2x6 -é/fuu:’ﬁf} g c;_df 34y
()  Define LCM. S Ao )
(i)  Solve the equation. |2x + 3| =11 |2+ 3]=11 ESeble (i)
(ii)  Solve the equation. f2r + 4 = ft -1 V2 +4 =4[t -1 S i)
(iv)  Define Coordinate Axes. é...d/’J f.»» W (iv)

-:.,r}l’”JJC JJimk"LL)}wg}: y=mx+c :(x—2y*-2 ufsiv‘d%: (v)

(vy Findthevalueof m and ¢ oftheline x -2y =-2 byexpressingtheminthe form y =mx + ¢

(vi)  Define Co-ordinate Geometry. Ealereessy i)
(vii)  Find the distance between the given GEePleigynl B(-4,-3) < A(-4,2) WL (i)

pairof points ~ A(-4,v2) . B(-4,-3) '
(vii)  State A.S.A postulate. L o L (i)



e
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4. Attempt any six parts. 12=2x6 ey /’....Lliéliiic;df 44y
()  Define right bisector of a linesegment. - /J/"JJ tdﬁfﬁbﬂ" (i)
(i)  Explain that the given lengths can be the lengths - LJu:%uWJCMZJ» v L"Jijuuf...)b; (ii)
of the sides of a triangle or not. 2em, 3em, Sem .
(i)  Define Proportion. -J_f.._i_!/'“'&._/ﬁ' (iii)
el hefiely Sk L c=13em # b=12cm < a=5cm WUSE L eds (i)
(iv)  Verify that the triangle having the following measures of the sides is right angled @ = Scm, b =12cm
and c=13cm
(v)  State Pythagoras Theorem. St Joy /‘U:.df B (V)
(vi)  Define Rectangular region. ' agf /uﬂ/’t!-’wtfy (vi)
6cm
(vi)  Find the area of the given figure. 3em ks i
(viil) Construct a triangle 4BC inwhich mAB = 3.2cm, mBC = 42cm. mCA = 5.2cm .?.u_’lt-,. ABC &k (viii)
(ix)  Define incentre of the triangle. _q/...gg fJf/ﬂ»ﬁﬁr‘;ﬁw (ix)
SECTION-I o2
24=8x3 eyt 0y felpl etrdedf o
NOTE: - Attempt any three questions. Question No.9 is compulsory.
5.(A) Solve by Cremer's rule. 2x-2y=4, 3x+2y=6 “f IJ’.;—..wmz.. Yy S (.5
(B) Sovefor x and ¥ (2-30) (x+yi)=4+i SES s ()
6(A) Use log table to find the value of M B3xV2  smede sl ()6
127 x 3246 127 x 3246
B) IFx+ =3 thenfind ¥+ il et wxes=3 S Q)
X X : x X
7.(A) Factorize the following cubic potynomial by factor theorem. -5 g fJ&JJ/E’/&»prbb»a.qu /.:1’/ ()7
x + x> —-10x +8
(B) Use division method to find the square root of the expressuon -ér}”d/l)jg(:‘d 2k (2)
—10x% +37x% - 60x + 36
8.(A) Solve the following equation for x |x +2|-3=5-{x+2| _Uj)f'?":.{f {;isvgﬁ_}ji ()-8
(B) For the given sides construct a AABC and ¥ ,;"...&ﬂtéu;jﬁa:w»u{b‘. AMBC LLywenés ()
draw the bisector of their angles.  mAB = 4.6cm, mBC = Sem, mCA =5.1cm
9. Prove that any point equidistant h”rul:/..ﬁcjufémh’u I -'r.btdfd;uc.w/ﬁb >80 IS -9

from the end points of a line segment is on the right bisector of it
OR |
Jumuwm (Urﬂ/Cw;Fd.qu)UrC’,l;uV»;..de;lr’L ’!ulg}amfdb’/lﬁMlldﬂ:’('jb/wl?&uffdf..xb
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